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Zahl geht max. bis 100.

T = {1,3,5,15,25, 75}

Ts; = {1,3,17,51)

T = {1,257, 10, 14, 35, 70 }

Tos = {1,2,47,94)}

Teo = {1,2 4,5,8, 10, 16, 20, 40, 80 }
Ts; = {1,3,19,57}

T, = {1,3}

Tz = {1,13}

Tea = {1,2 3,4,6,7, 12,14, 21, 28, 42, 84 }
Teo = {1,2,41,82)

To = {1,2,11,22}

Ty = {1,37}

Teo = {1,2,31,62)

Too = {1,3,09, 11,33,99}

T, = {12}
Tao = {1,2,3,6,7,14,21,42}
T89 = {1,89}

Tes = {1,5,17,85}

Too = {1,2 4,5,10,20}

Ts = {1,2 4,5,8,10, 20, 40 }

T = {1,2,7, 14}

Tas = {1,2, 3,4, 68,12, 16, 24, 48}
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